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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attemptea
. choosing at least ONE from each section.

The number of marks carried by a question [ part is indicated against it.
Answers must be written in the medium authorized in the Admission Certificate which must be

stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. Nc
marks will be given for answers wi itten in a medium other than the authorized one.

Waord. limit in questinns, herener specified, should be adhered. to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off; attempt of a questior
shall be counted even if attempted partly. Any page or portion of the page left blank in th:
Question-cum-Answer Booklet must be clearly struck off.
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Qs A
SECTION A

Q1. T=afafRaa & @ y=® =T ST TN 150 vreat A it
Answer the following in about 150 words each : 10x5=50

(a) SAFEYH Td oo Al o cr@meRtr fFreuer @ weft AR SR@rehtur A
% YAyl i == hife |

Discuss the provisions of Indian Accounting Standards regarding the
accounting treatment of Research and Development costs. 10

(b) < T SR AT =i aetel % s e ifse et fufam w
¥ JuTEl i e ot hifs |

Distinguish between the techniques of Cost Control and Cost Reduction
and also explain their implications on decision-making. 10

(c) =HHfal o qumeH i fed wgr fafy 6 =men $Hifv |
Explain Pooling of Interest method of amalgamation of companies. 10

(d) Wéﬂﬂﬁﬁﬂﬁﬁﬁﬁﬁlﬁﬂl-ﬂ@?ﬁ%?

What are the various deductions made from Gross Total Income ? 10

(e) ‘ﬁmﬁawﬁﬁé&qﬁma&wﬁm&r&ﬁ%a&haﬁwﬁﬁ
feaurent = gam s g |7 feonft Hifso |

“Audit of divisible profits enables the stakeholders to judge the
philosophy of majority shareholders.” Comment. 10

Q2. (a) SmMuE & 3 T 103 MWW w T 2 Hiftrm & 20,000 IR/ F T A
AT Hd §¢ T foaror-afyest st <, <t = s & 2 9

3MAET T T 2
3 I T 5 (Shiftem afga)
e [ W T3
feeia wd sifaw wifn w T2

30,000 W & AT 3T W Y 3R W & 24,000 T F S Hr
I 3T L feam a1 | AeeH W e ifere Ut b steie ufyr ¥
TR ST form T |

@, T 400 IR swefea fobe T &, e Uy &1 YA & W gh |
TTCIER SIH R ST U H-3TeHe @ 9T 38 I T gL ot Torm 71T |
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(b)

glt, S 600 WERT hl e oft, G HIT ST KU W 3w} W, I I Ay
%1 gEl AT < 1] BT KL foram T |

¢4 g pT e IRl & & 800 A% MurE B T 9 W W gOF Fg G- ifr
R feu, form @war & @i R Wi o |

IR.wg. fo1. < geaeht # TawEs SHa gfafsear i |

RS Ltd. issued a prospectus inviting applications for 20,000 shares of
¥ 10 each at a premium of ¥ 2 per share payable as under :

On Application L7
On Allotment T 5 (including premium)
On First call T3
On Second aud Fiual call < 2

Applications were received for 30,000 shares and pro-rata allotment was
made on the applications for 24,000 shares. Excess money paid on
applications was utilised towards allotment money.

Kherwa, to whom 400 shares were allotted, failed to pay the allotment
money. On her subsequent failure to pay the first call, her shares were
forfeited.

Suri, the holder of 600 shares, failed to pay the two calls, and her shares
were forfeited after the second call.

Out of these forfeited shares, 800 shares were reissued to Gopal,
credited as fully paid for ¥ 9 per share, the whole of Kherwa’s shares
being included.

Pass the necessary Journal entries in the books of RS Litd.

@ fafmior st A, e e faao fefafea 2, Fol oo 5 5%
ﬁaﬁawmm:

4. 1 g. 2
AT 3T (% W) 90 60
fosht (T @t #) 540 300
gitad=sfia @vra (T el °) 396 225
for e (T aral ®) 80 50

T f6 gEara s foean T 8, aiehed i

() feRm ga= 6 dqer-ar 56 td 39 Yaen § HHar T |
(i) 80% &waT ST W R a1 i AvgRIhar |

(iii) T 75 @ 1 AN ARAd HE & fog foeila a@@e= &1 foht o1med |
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Two manufacturing companies, which have the following operating
details, decided to merge :

Company Company

No. 1 No. 2
Capacity Utilization (in %) 90 60
Sales (¥ lakhs) 540 300
Variable Cost (¥ lakhs) 396 225
Fixed Cost (¥ lakhs) 80 50
Assuming that the proposal is implemented, calculate : 15

(i) Break-even sales of the merged plant and the capacity utilization
at that stage.

(i) Profitability of the merged plant at 80% capacity utilization.
(iii) Sales turnover of the merged plant to earn a profit of T 75 lakhs.

() “HFuiitd 7 Faa o R W H H YW T @ dfesh gall hl R
Rt I a8 1”7 39w S i |

“An assessee not only pays tax on his own incomes but also on others’
incomes.” Explain this statement. Vs

Q3. (a) TS S & AN AEHR hl B, 2016%@&@3&%%3%@1
e bl g off :
(1) 3ufter arma fo=ro : T 1,400 Shiga
(2) U= AET =R/ : T 1,000 Sk
(38) HEdl, 2016 % sie =S : 1,200 HUE
(4) wEd, 2016 % s SRS : T 6,000
(5) uReAT <t aTEfaeh SEE G AN I TS : T 8 Ufd wveT

W, 2016 % o Freafafaa womr &g SAeht ggrar Hifs -
() Sufteaa =t o=

(i) T YN AFT T8

(iii) IrEafaes et % foru arefess woe

Gv) Iule ewar fo=ro |

(v) Suleay srigen fomo

e o Nty i
(v1) di&dideh ScHigd <h 11 Hideh &Vc
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(b)

(c)

The Cost Accountant of a company was given the following information
regarding the overheads for February, 2016 :

(1) Overhead cost variance : ¥ 1,400 adverse

(2) Overhead volume variance : ¥ 1,000 adverse

(3) Budgeted hours for February, 2016 : 1,200 hours
(4) Budgeted overheads for February, 2016 : ¥ 6,000

(5) Actual rate of recovery of overheads : * 8 per hour

You are required to assist him in computing the following for
February, 2016 :

(1) Overhead expenditure variance

(ii) Actual overheads incurred

(iii) Actual hours for actual production

(iv) Overhead capacity variance

(v) Overhead efficiency variance

(vi) Standard hours for actual production

90 6 @R AEH 2 (ANifta) & SHER, 9K 4¢ sarsy e wrerfEl %
e fretor # smfie i fop smar @ |
State four items which are not to be included in determining the cost of

inventories in accordance with Paragraph 6 of Accounting
Standards 2 (Revised).

R % & Rawi e 3 91g ifsd & e o2 W = gF wHia fea,
@ fer % faftm e e &t Tga gfshar vg sem m | gt % s

TR S 3 Saeh 38 A % Rie 3% @t oraren % R g

e, Red eF i wE wre difsdl &g o1 wn | fafte gEl f it @
i T gre & O 1§ Ui & fou, dEedan 3g SR R
Hife | wRfeufa & e W@ v faesw fog sase, (< e wiFfaa S0
A1 SrETTher HrisHn # gHi Y Tiftaat Te fordwr it Semadian 8 T |

An NGO operating in Delhi had collected large scale donations for flood
victims. The donations so collected were sent to different NGOs
operating in Bihar for relief operations. The NGO operating in Delhi has
appointed you to audit its accounts for the year in which it collected and
remitted donations for flood victims. Draft a programme for audit of
receipts of donations and remittance of the collected amount to different
NGOs. Mention five points each, peculiar to the situation, which you
would like to incorporate in your audit programme tfor audit of the said
receipts and remittances of donations.

Mm-esc-U-emA 5
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Q4.

(a)

(b)

o1, It v g Fafehen Afespit § | 3% T 15,000 i W1 94 T 25% hi
@ Q HEs o e @ | 9 st wiesy B e d s S = 15%
IEH 20 8 | I & gl s FEw oft ofvie S @ | 3% feet e i
R @ g amam e gem @, frehl SHee 5 @@ R | 39 qehe i Sfia
ot et T 6,000 Uit WTE R | 3 T W= % TQ EEE Wel T 500 SR
HTE AT BI1 & | 38 31 ¥ 1 HHM T 500 Wi wiE fepue W fem gam
%ﬁam?zooommﬁwaﬂga;mw | Ieht Freferfea o oft § -

QR o et | < 5,000
GghRI TTAT o FUIA W A T 3,000
st st @ ST T 1,000
T, & @l # fae T 2,000

3R 9T Fafehedn e Sium T 12,000 % A g1 AT foham | IR TS
%9 & ¥ 1,500 3R aRam FHEis wrlshat 61 defd & e 2 1,500 g T |

o Faitor a¥ 2016 — 17 & T, $a1 ™ F1 yfeweq HT |

Dr. Sharma is a Chief Medical Officer. He receives a salary of T 15,000
per month and Dearness Allowance @ 25%. He contributes 15% of his
salary to a Recognised Provident Fund. The employer also contributes

an equal amount. He is provided with a Rent Free House in a city with a
population of 5 lakhs. Fair rental value of the house is ¥ 6,000 per

month. He receives Hostel Allowance of T 500 per month for his child.
He has let out his own house at ¥ 500 per month and paid ¥ 2,000 for
Municipal tax of the house. He has the following incomes too :

Dividend from a domestic company T 5,000
Interest on debentures of a cooperative society T 3,000
Dividend from a foreign company T 1,000
Share in the profits of A.O.P. T 2,000

He paid ¥ 12,000 for his own medical health insurance by cheque. He
donated ¥ 1,500 to a national fund and ¥ 1,500 for promoting family
planning programmes.

Compute the total income for the Assessment Year 2016 — 17.

H= & T g T F & Ara feeiel @ wRl gean 303 % g ¥ off
?:
TR : T 4,010
W@?ﬁ:
fawmr a1 : 60 EW, T 3 UM TV T W

20

Ryms . 4099, T oyfgaR faaw
oy a . 209w, T 59fd g0 Hi AW
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3 Tt & Suftesa o1 Wieshera T wehR @ foparm T R
TREdite SHRET

 fawm &1 ;T 5,000, 5000 ¥9 TS % foQ

fawm s : = 3,000, 1500 5| =i % faQ

favm @ ;. = 2,000, 500 3W TvE & fow
fRr 9= : T 20,000 Y AT 10,000 T HH €Ul & (o0, |

JUh! HR T 303 F AT ARG 1 Ufhe HET & T 25% M. IAfd
% *q fasha e 1 ot afehem e R |
The information given below has been taken from the costing records of
a company in respect of Job No. 303 :
Materials : ¥ 4,010
Wages :
Dept. A : 60 hours @ ¥ 3 per hour
Dept. B : 40 hours @ ¥ 2 per hour
Dept, C ; 20 hours @ ¥ 5 per hour
Overhead expenses for these departments were estimated as follows :

Variable overheads :
Dept. A : T 5,000 for 5000 labour hours

Dept. B : ¥ 3,000 for 1500 labour hours

Dept. C : T 2,000 for 500 labour hours
Fixed overheads : Estimated at ¥ 20,000 for 10,000 normal working
hours.

You are required to calculate the cost of Job No. 303 and also calculate
the selling price to earn a profit of 25%. 15

(¢ Tt @@ = g q@mden 3 R-femes afguRe’ (TW.de) % §9 8 |iva
S U Id T AQHIES & GRI ISTT I a1t Al Sl AT |

Enumerate the steps to be taken by an auditor before declaring an
account as Non-Performing Asset (NPA) in a bank audit. 15
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w©us B
SECTION B

Q5. T=fiRaa & O ysw &1 S oA 150 Wesai W R -

Answer the following in about 150 words each :

(a) ﬁﬁaﬁﬁﬁ@%wwﬁmmﬁmﬁﬁm

v nlain the ralavanca *Fhmn va 11 -P-rn ne
J. l_‘.J. WALELN, LA Ll m-.;\l\’ A ALELEN, V¥ A4 V

(b) sREd W ufawa & Tiehed & fog & 9 9 @ M@ &9

i |

Diagrammatically pi'esent the Du Pont chart to calculate return on

equity.

(¢) Usfi s @rTa W MifSferar v fiier Surm # SIC T SEdTEl Sl aY W T

i |

Explain briefly the propositions made in Modigliani and Miller approach

on cost of capital.

() TduH Hifges Hfifa i e Sy |
Explain the current Monetary Policy.

(e) HRG SHITCHHNCT T TSIl hl YIHeHT T HeATh hIfT |
Evaluate the role of Credit Rating Agencies.

Q6. (a) Tr=fciRad =T 1 AT HLd FY IoH 99 dIR HIFT :

10x5=50

L
o}

10

10

10

10

() Taa TR | Ha w0 1:2
(i) o giEEaRa Ed 2
(i) fosha T Hhel ™ 30%
(iv) oitaa agef & (wm efifre ad & 360 fem) 40 fe=
(v) =TT AT Sl AR SR 99 i SAfaH ATt
T TG AR STed STaTa 3
(vi) U@ fAgior U 0-75
(vii) Sferadl IR YSit T 4,00,000
(viii) STRI&feET e 3rfersy T 6,00,000
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Using the following information, prepare the Balance Sheet :

(i) 'Total debt to net worth
(11) Total assets turnover
(iii) Gross profit on sales

(iv) Average collection period (Assume

360 days year)

(v) Inventory turnover ratio based on

cosl of goods sold and year-end inventory

(vi) Acid test ratio
(vii) Equity share capital

(viii) Reserves and Surplus

0-75
T 4,00,000

Z 6,00,000

(b) T fa. @ aE 0. H MR H TIE T FH SARET g AR T THR Jo

3R 3Tei =1 TR =1 wga fomam 2
o X f«1. Y f&1.
& ZF

Sferadl 6,00,000 3,00,000
Eaui = 2,50,000
6,00,000 5,50,000
Jfela @™ 90,000 90,000
ST : &S = 22,000
90,000 68,000

I HrfAE At HUUH o §1g St Uit i AN, T @G U9 WG 3Ea
ISft it T 1 aiteeH IR, F8 JHd g TR BT WS T Hl X 35%

& Td AT T w 20% fafes st g |
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X Ltd. and Y Ltd. have the same level of business risk and their market
values and earnings are summarised below :

Calculate the post-tax cost of equity, cost of debt and weighted average
cost of capital of both the companies. Assume that the income-tax rate
on the company is 35% and the additional tax on dividend distribution

is 20%.

() 1991 % sie f=faRaa &= # fpy gT wewmqul gurl =i fafe

Particulars

Equity

Debt

Earnings

Less : Interest

() ofehm &
Gi) rerfies ve fedies e IR

(iii) =T fofi 9NR

Write the important reforms that have taken place in the following
sectors after 1991 :

(i) Banking Sector
(ii) Primary and Secondary Stock Market

Y Litd.

X Ltd.
X 5
6,00,000 3,00,000
- 2,50,000
6,00,000 5,50,000
90,000 90,000
- 22,000
90,000 68,000

(iii) External Financial Market

15

15

M-ESC-U-CMA
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Q7. (a) THHaE. 4. b guet axfe (S smEfa & T R), % uirem wt ¢ wsia
AT STEdt B | B 3 geeh! fga Site % a1g I St § @ S o1 =9
foha | g Afsdt i AT, Seaned T qatgEi Haa emm e € | g
WA o1 STATHG Sieq 5 Y @ | gfed a9 & 37d A 3fafire ged =1 & 7
Se | A et foeror fean = 2

QEIHIT R % G The TaT8
T |ar| a1 | 92 | 9§83 | a4 | a5
| bR = 5 20 14 6
| 40 | 10 14 16 17 8

ST T ISt W AN 16% B | T QAT TGl BT YAl hlsh BH I,
freferfaa =1y i ge, o i

() YTYTaE Ity

(i) od qaHH e

(iil) TATHGTRAT YIDTH

(iv) 3= Ffawa

XY Ltd. wants to install a new machine in place of an existing old one
which has become obsolete. The company made extensive enquiries and
from the proposals received, short-listed two offers. The two models
differ in cost, output and anticipated net revenue. The estimated life of

both the machines is five years. There will be only negligible salvage
value at the end of the fifth year. Further details are as follows ;

Anticipated after-tax cash flow

Machine | Cost | Year 1 | Year 2 | Year 3 | Year 4 | Year 5

A 25 - 5 20 14 6

B 40 10 14 16 17 8

The company’s cost of capital is 16%. You are required to make an
appraisal of the two offers and advise the firm by using the following : 20

(1) Payback Period

(ii) Net Present Value

(iii) Profitability Index

(iv) Internal Rate of Return

M-ESc-U-cmA 7



Qs.

(b)

(e

(a)

(b)

(e)

ot fo1. B adur s T 20,00,000 ® | FHFHT 2/10, Y5 30 hl Uhs og1 HAifd
AT O B A S W R | $Eh RO, SR Sl SAed Seell '
10 &1 %9 B 3T 80% Tkl % Uehs weT <hl ITHT HI AT hi U # |
e ot Bt T gt Fiaw T W 20% Bt R, A S8k gRI 91 A5 Sel il
1 @] foRem ST =fen ?

Shree Ltd. has current sales of ¥ 20,00,000. The company is planning to
introduce a cash discount policy of 2/10, net 30. As a result, the company
expects the average collection period to go down by 10 days and 80% of
the sales to opt for the cash discount facility.

If the company’s required return on investment in receivables is 20%,
should it introduce the new discount policy ? 15

st e PRt aur redl fofiufoRt & foem 3g @t g 33T Y
fafirg surt =1 whew i |

Examine various measures taken by SEBI for the development of
Foreign Institutional Investors and Venture Capitalists. 15

T I T 10 3ifha Tou I I B AW G T 10,00,000 7 | HEEH
i =0 §Sf 10% I @ W T 6,00,000 8 | BH hl foshl T 5 9fd 3h1S &
farshl gt T 3,00,000 sHIEAT 9f I 3 R wfadRfi @ T 8 Wi TR
2 | fOR @ T T 2,00,000 § | HEHT 35% T G H H HT WA Bt
2 | afe fosht & 109% <6t gfig Bt 2, A iteher <hifoT :

() wftr IR o # wfawrd 9fg

(i) aF1 U W o SKiem i AE

The share capital of a company is ¥ 10,00,000 with shares of face value
of ¥ 10. The company has debt capital of ¥ 6,00,000 @ 10% rate of
interest. The sales of the firm are 3,00,000 units per annum at a selling
price of ¥ 5 per unit and variable cost is ¥ 8 per unit. The fixed cost

amounts to T 2,00,000. The company pays tax at 35%. If the sales
increase by 10%, calculate : 20

(i) Percentage increase in EPS
(ii) Degree of financial leverage at the two levels

il s iy & ufy MR aur frer Surm H Swen HINY |

Explain the Modigliani and Miller approach for corporate dividend
policy. 15

IR STafY % AR Witd § ST AT 89 YR gu E ?
What are the various insurance sector reforms that have taken place in

India during the period of liberalisation ? 15
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